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Maths Year 5 
Revision – addition and subtraction w/c 18.05.20

The objectives we are working on this week are:
· add and subtract whole numbers with more than 4 digits, including using formal written methods (columnar addition and subtraction). 
Use the following link to help you remember how to do column addition and subtraction. 
https://www.bbc.co.uk/bitesize/topics/zy2mn39/articles/z3kmrwx 
https://www.bbc.co.uk/bitesize/topics/zy2mn39/articles/zc78srd [image: ]
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Now try these questions, make sure you check if they are addition or subtraction. 
Monday 18th and Tuesday 19th [image: ]


Wednesday 20th [image: ]


Thursday 21st [image: ]











Friday 22nd 
Have a go at some of these word problems[image: ]
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step2 - 2519 - 4116
‘Starting from the right, subtract each column in turn. 92 17 0 4 2 9 2 « =]
441 4
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You always subtract the bottom number from the top. When this can’t be
done, we need to regroup by exchanging
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. What number is the sum of six thousand and sixty and two thousand, four hundred and thirteen?

Decrease 2973 by 628.

What is added to £45.62 to make £87.00?

What number is four thousand, six hundred and twelve minus nine hundred and sixty?
Take £6712 from £8000.

If Iincrease a number by 2097 and get 4651, what number did I start with?

Add together 5892 and 3015, then subtract 6719
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What number is three thousand and six more than four thousand, six hundred and ninety-five?

. Subtract 6725 from 8053.

. How much smaller is 4237 than 5138?

. What number is four thousand, three hundred and forty more than five thousand and seventy-six?

. Calculate the difference between three thousand, two hundred and twelve, and two thousand and forty-six.
. Add £23.71 to £78.46.

. What number is 5002 less than 7001?

Increase £76.83 by £22.71.
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Adding Whole Numbers

Set out your addition in formal column method, aligning the digits in the.
correct place value columns.

3|4|3|6
+ 8 9 3

Step2
Starting from the right, add each column in turn. Carry digits to the next
column if the total adds up to more than o.
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Step3 /1'

Make sure any number you've carried over, you've included in your next
addition.
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